PROOFS OF SEASONALITY OF BULGARIA'S EXPORT OF CONSUMER GOODS, RAW MATERIALS AND PROCESSED MATERIALS OVER THE PERIOD 2020–2023

Anatoli Velkovski¹

¹D. A. Tsenov Academy of Economics – Svishtov, Bulgaria **E-mail:** ¹d010221236@uni-svishtov.bg

Abstract: A country's balance of payments determines the degree of openness of its economy. In our case, it is the ratio of the debit and credit entries in the current account to GDP. Data regarding Bulgaria indicate that during the period of its full membership in the EU, the average annual ratio of its balance of trade to GDP exceeds 110%. This categorizes the country as an open-type economy. Simultaneously, an economy which is heavily reliant on both exports and imports is considered extremely susceptible to external shocks and strongly dependent on foreign markets. Accordingly, the study focuses on the export of two leading groups of goods within the current account of the balance of payments: the group of consumer goods and the group of raw and processed materials. The research aims to examine the dynamics of export flows using the method of seasonal projection. The working hypothesis is that due to the effect of various crises (such as the pandemic, the war in Ukraine, spiking energy prices, etc.) and the economic cycle in the agricultural sector, the dynamics of exports of consumer goods and raw and processed materials has seasonal characteristics. The objective is to analyse Bulgaria's exports for the period 2020–2023 on a quarterly basis and to define the trend component, the seasonal component, and the random component with a forecast for 2024.

Keywords: export seasonality, consumer goods, raw and processed materials, GDP.

This article shall be **cited** as follows: **Velkovski**, **A**. (2024). Proofs of Seasonality of Bulgaria's Export of Consumer Goods, Raw Materials and Processed Materials over the Period 2020–2023. Economic Archive, (3), pp. 63-74.

URL: www2.uni-svishtov.bg/NSArhiv DOI: https://doi.org/10.58861/tae.ea-nsa.2024.3.05.en JEL: F14, F17, F41.

Introduction

ational economic development is based on a combination of various production factors aligned with both the absolute and comparative advantages of each country in relation to its neighbour states and the rest of the world. While numerous economic theories were corroborated in the context of a closed economy, real-world economies are open. Therefore, in calculating gross domestic product, we adhere to the classical formula of adding consumer spending, business investment, and government spending, adjusted by the balance of trade (i.e. net exports). From a purely mathematical perspective, if this balance is decomposed into its two components — exports and imports — we can claim that both factors are important for the final result. Essentially, exports represent the capacity to sell domestically produced goods and services beyond national borders (Salvatore, 2007). Imports, on the other hand, represent the spending of the government and households on goods and services produced abroad as well as business investment in imported industrial machinery. Therefore, the examination of the relationship between GDP and the components of the balance of trade merits particular attention. Both factors are undoubtedly subject to seasonal effects within the fiscal year, particularly in the sectors of tourism and agriculture.

Consequently, the subject of this study is the export of two major groups of goods on the current account balance of payments, viz., consumer goods and raw and processed materials. The aim of the study is to analyse the dynamics of these export flows using the method of seasonal projection. The main hypothesis is that the influence of multiple crises (e.g. the pandemic, the war in Ukraine, electricity price spikes, etc.) and the economic cycle in the agricultural sector, the dynamics of exports in consumer goods and raw and processed materials has seasonal characteristics. The objective is to examine Bulgaria's exports for the period from 2020 to 2023 on a quarterly basis and to define the trend component, the seasonal component, and the random component with a forecast for 2024. However, the initial premise is to test the relationship between the two selected export commodity groups and GDP on a quarterly basis.

1. The issue of GDP and trade balance

According to the original formula for calculating GDP, the gross national product is the sum of consumer spending (C), business investment (I), government spending (G) and the balance of trade (Brusarski, Zahariev, & Manliev, 2015).

(1) GNP = C + I + G + (X - M),where:

C is consumer spending; I is business investment; G is government spending; (X - M) is the net balance of trade export - import).

Following the established methodology for macroeconomic analysis, we proceed to select data and use it in an econometric model. (Zahariev A., 2012).

1.2. Description of empirical data

The quarterly reports for GDP and the exports of the categories "consumer goods" and "raw and processed materials" in EUR mln. during the specified period (1Q2020–4Q2024) were taken from the datasets maintained by the Bulgarian National Bank and the National Statistical Institute.



Figure 1. Dynamics of Bulgaria's quarterly export of consumer goods and raw and processed materials over the period 1Q2020–4Q2023

The selected export categories have seasonal dynamics, which were particularly pronounced during the pandemic year of 2020. In contrast, GDP maintains an upward trend and a recurring seasonal pattern in quarterly data for the corresponding year, with peak values observed in the fourth quarter and the lowest values in the first quarter.



Figure 2. Dynamics of Bulgaria's quarterly GDP over the period 1Q 2020-4Q2023

1.3. Econometric analysis of the GDP and the export of consumer goods and raw and processed materials

The systematically collected data is initially subjected to descriptive statistical analysis followed by multiple regression modelling. For the analysed quarters, the quarterly mean of consumer goods is EUR 2.234 bln. and that of raw and processed materials is EUR 3.826 bln. The quarterly mean of GDP over the period is EUR 19.526 bln. The coefficient of variation relative to the mean is notably highest (26.82%) for the export of raw and processed materials (Zarkova, Kostov, Angelov, Pavlov, & Zahariev, 2023), followed by the coefficient of variation for the export of consumer goods (24.79%) and for the quarterly GDP (20.98%.) Only the data for GDP substantially meet the criteria for standardized normal distribution (Skewness = 0.17). In contrast, both export factor variables exhibit a left-skewed asymmetrical distribution of the quarterly data. (Zahariev, et al., 2023). Logically, the kurtosis for GDP is platykurtic, while the distributions for the two export factors are leptokurtic.

The multiple regression model is statistically significant at a 95% confidence interval. The correlation coefficient is moderate at 61.36%. The coefficient of determination indicates that 37.65% of the variance of the dependent variable can be explained by the variability in the two export product categories. The coefficients of both factors are not statistically significant.

Table 1

Descriptive statistics for Bulgaria's quarterly GDP and export of consumer goods and raw and processed materials over the period 1Q2020–4Q2023

Features	Export of consumer goods	Export of raw and processed materials	GDP
Mean	2234.15	3826.06	19525.73
Standard Error	138.44	256.58	1024.26
Median	2308.00	4127.25	19723.35
Standard Deviation	553.77	1026.30	4097.02
Sample Variance	306663.05	1053297.34	16785581.37
Kurtosis	4.11	3.09	-1.00
Skewness	-1.64	-1.53	0.17
Range	2308.20	4212.90	13347.13
Minimum	615.50	948.90	13162.63
Maximum	2923.70	5161.80	26509.77
Sum	35746.40	61217.00	312411.74
Count	16	16	16
Confidence Level (95.0%)	295.08	546.88	2183.15
Coefficient of variation	24.79%	26.82%	20.98%

Source: Author's calculations using data from BNB and NSI (in EUR mln.)

Table 2

Multiple regression model for the influence of Bulgaria's quarterly export of consumer goods and raw and processed materials on the country's GDP over the period 102020–402023

Regression						
Statistics						
Multiple R	0.6136					
R Square	0.3765					
Adjusted R Square	0.2806					
Standard Error	3474.98					
Observations	16					
ANOVA						
					Signifi-	
	Df	SS	MS	F	cance F	
Regression	2	94802099.2	47401050	3.925387	0.046381	
Residual	13	1.57E+08	12075509			
Total	15	2.52E+08				
		Standard			Lower	Upper
	<i>Coefficients</i>	Error	t Stat	P-value	95%	95%
Intercept	9351.30	3740.34	2.50	0.03	1270.80	17431.81
Export of consumer						
goods (EUR mln.)	6.80	5.41	1.26	0.23	-4.89	18.49
Export of raw and						
processed materials						
(EUR mln.)	-1.31	2.92	-0.45	0.66	-7.62	4.99

Source: Author's calculations using data from BNB and NSI (in EUR mln.)

2. Approbation of the seasonal projection forecasting method

The degree of seasonality of the two of export commodity flows is determined using the method of seasonal projection. This process includes three stages. (Zahariev, Angelov, Ganchev, & Kostov, 2022):

Stage One: Removal of the seasonal effect from the time series data, which comprises three sub-stages: (a) calculating the initial seasonal indices; (b) calculating the final seasonal indices; (c) eliminating the seasonal component.

Stage Two. Determining the trend component by means of a linear function (Y = a + bX), where "a" is the intercept and "b" is the slope of the regression equation line.

Stage Three. Adjusting the trend component with a seasonal factor to determine the forecast values for each season of the fifth consecutive year.

The basic equation for calculating seasonal forecast variables takes into account three components: trend component, seasonal component, and irregular component, i.e.: $Yt=T_t x S_t x I_t$. (Zahariev, 2022).

2.1. Results from the analysis of the dynamics of consumer goods exports in Bulgaria's balance of trade over the period 1Q2020 – 4Q2023 with seasonality smoothed forecast for 2024.

Stage 1.A: Calculating the initial seasonal indices						
	Exp,t	MA(4)	СМА	SRI Comp		
2020'Q1	1943					
2020'Q2	1740	1560.60				
2020'Q3	1944	1579.58	1570.09	1.24		
2020'Q4	616	1662.50	1621.04	0.38		
2021'Q1	2019	1710.20	1686.35	1.20		
2021'Q2	2071	2117.63	1913.91	1.08		
2021'Q3	2135	2205.53	2161.58	0.99		
2021'Q4	2245	2371.55	2288.54	0.98		
2022'Q1	2371	2529.65	2450.60	0.97		
2022'Q2	2735	2699.28	2614.46	1.05		
2022'Q3	2767	2774.58	2736.93	1.01		
2022'Q4	2924	2745.85	2760.21	1.06		
2023'Q1	2672	2669.43	2707.64	0.99		
2023'Q2	2621	2559.10	2614.26	1.00		
2023'03	2462					
2023'Q4	2482					
Where:		•				
Exp,t – Historical	seasonal data;					
MA(4) – Four-per	riod moving avera	.ge;				
CMA – Centered	moving average;					
SRI Comp – Seas	onal and random	index.				

The data regarding Bulgaria's consumer goods export over the 16 quarters is processed consecutively through the three stages of the analysis:

Stage 1.B: Calculating the final seasonal indices						
		SRI Comp		SI		
Q4	1.20	0.97	0.99	1.05		
Q1	1.08	1.05	1.00	1.04		
Q2	1.24	0.99	1.01	1.08		
Q3	0.38	0.98	1.06	0.81		
Where: SI – Fir	Where: SI – Final seasonal index for Qi					

Stage 1.C: Removing the seasonal component		Stage 2: Applying the trend forecasting model to the seasonality-smoothed data		
Exp,t	SI	Yts	t	Yts
1943	1.05	1850	1	1849.79
1740	1.04	1667	2	1666.88
1944	1.08	1802	3	1801.77
616	0.81	763	4	763.02
2019	1.05	1922	5	1922.04
2071	1.04	1985	6	1984.72
2135	1.08	1979	7	1978.61
2245	0.81	2783	8	2783.32
2371	1.05	2257	9	2256.72
2735	1.04	2621	10	2621.06
2767	1.08	2565	11	2564.74
2924	0.81	3624	12	3624.44
2672	1.05	2543	13	2543.43
2621	1.04	2511	14	2510.96
2462	1.08	2281	15	2281.40
2482	0.81	3077	16	3077.37
Where:			Alpha	1433.83
Yts-Seasonality-adjus	ted historic	al data	Beta	97.71

The graphical model depicting the export forecast is illustrated in the figure below. The projection for 2024 regarding consumer goods exports is derived from the equation for Yts with alpha set at EUR 1,433.83 mln. and beta at EUR 97.71 mln.



consumer goods over the period 1Q2020-4Q2023

Stage 3: Adjusting the forecasts from Stage Two with the final seasonal								
	indices from Stage 1.BC							
	Trend Seasonal							
	4Q2022-	component	index	End Forecast				
	3Q2023	(TC)	(SI)	(EF)				
17	Q1=17	3094.95	1.05	3251.41				
18	Q2=18	3192.67	1.04	3331.95				
19	Q3=19	3290.38	1.08	3550.12				
20	20 Q4=20 3388.09 0.81 2733.05							
Where:								
TC – Forecast based on seasonally-smoothed data								
EF – Fore	ecast after applyi	ng the seasonal inc	lex					

The results clearly demonstrate the adverse effects of the pandemic and the deteriorated predictive qualities of the model, particularly for the fourth quarter of 2024.

2.2. Results from the analysis of the dynamics of raw a	and processed
materials exports in Bulgaria's balance of trade o	ver the period
1Q2020 – 4Q2023 with seasonality smoothed fore	cast for 2024.

The same procedure is applied to the data for Bulgaria's raw	and				
processed materials exports over the 16 consecutive quarters.					
Stage 1 A. Coloulating the initial seasonal indians					

Stage 1.A: Calculating the initial seasonal indices						
	Imp,t	MA(4)	СМА	SRI Comp		
2020'Q1	2999					
2020'Q2	2723	2423.15				
2020'Q3	3022	2556.18	2489.66	1.21		
2020'Q4	949	2793.20	2674.69	0.35		
2021'Q1	3531	3004.63	2898.91	1.22		
2021'Q2	3671	3774.58	3389.60	1.08		
2021'Q3	3867	4058.60	3916.59	0.99		
2021'Q4	4029	4431.23	4244.91	0.95		
2022'Q1	4667	4620.83	4526.03	1.03		
2022'Q2	5162	4710.50	4665.66	1.11		
2022'Q3	4626	4694.48	4702.49	0.98		
2022'Q4	4387	4490.53	4592.50	0.96		
2023'Q1	4603	4436.43	4463.48	1.03		
2023'Q2	4346	4396.03	4416.23	0.98		
2023'Q3	4409					
2023'Q4	4226					
Where:						
Exp,t – Historica	al seasonal data;					
MA(4) – Four-po	eriod moving avera	age;				
CMA – Centered	1 moving average;					
SRI Comp – Sea	sonal and random	index.				

	Етап 1.С: Са	lculating the final s	easonal indices	
		SRI Comp		SI
Q1	1.22	1.03	1.03	1.09
Q2	1.08	1.11	0.98	1.06
Q3	1.21	0.99	0.98	1.06
Q4	0.35	0.95	0.96	0.75

Economic Archive 3/2024

Stage 1.C: Removin	g the seasona	Stage 2: Applying the trend forecasting model to the seasonality-smoothed data		
Imp,t	SI	Yts	t	Yts
2999	1.09	2743	1	2742.53
2723	1.06	2574	2	2574.28
3022	1.06	2846	3	2846.30
949	0.75	1260	4	1260.06
3531	1.09	3229	5	3229.12
3671	1.06	3471	6	3470.54
3867	1.06	3643	7	3642.97
4029	0.75	5350	8	5349.78
4667	1.09	4268	9	4268.06
5162	1.06	4880	10	4879.53
4626	1.06	4357	11	4357.39
4387	0.75	5826	12	5826.11
4603	1.09	4209	13	4209.45
4346	1.06	4108	14	4108.34
4409	1.06	4154	15	4153.54
4226	0.75	5612	16	5611.51
Where:			Alpha	2292.68
Yts-Seasonality-adjusted	historical data	L	Beta	190.05

The graphical model of the import forecast is illustrated in the figure below.



Figure 4. Historical and seasonally adjusted data for Bulgaria's imports over the period 1Q2020-4Q2023 1Q2020-4Q2023

The graphical model depicting the raw and processed materials exports for 2024 forecast is derived from the equation for Yts with alpha set at EUR 2292.68 mln. and beta at EUR 190.05 mln.

Stage 3: Adjusting the forecasts from Stage D) with the final seasonal indices from Stage 1.B)						
	4Q2022-3Q2023	Trend component (TC)	Seasonal index (SI)	End Forecast (EF)		
17	Q1=17	5523.51	1.09	6040.05		
18	Q2=18	5713.56	1.06	6044.07		
19	Q3=19	5903.61	1.06	6266.99		
20	Q4=20	6093.65	0.75	4588.88		
Where:						
TC – Forecast based on seasonally-smoothed data						
EF – Forec	ast after applying the	e seasonal index				

Conclusion

In conclusion, it can be inferred that, based on the impact of multiple crises (such as the pandemic, the war in Ukraine, and electricity price spikes) and the economic cycle within the agricultural sector, the dynamics of exports of consumer goods, raw and processed materials have weaker seasonal characteristics compared to those of GDP on a quarterly basis. Of the two examined export categories, the seasonal index for smoothing the forecast for the export of raw and processed materials for the fourth quarter has a higher adjustment value of 0.75 compared to the smoothing index for consumer goods exports of 0.81. Through a multiple regression model, with a confidence interval of 95%, a statistically significant dependency of GDP on the two tested export categories has been identified at a moderate correlation coefficient of 61.36%.

References

- Brusarski, R., Zahariev, A., & Manliev, G. (2015). *Financel Theory*. V. Tarnovo: FABER.
- Salvatore, D. (2007). *International Economics*. N.Y.: John Wiley and Sons Inc.
- Zahariev, A. (2022). *Financial Analysis*. Svishtov: AI "Tsenov". Retrieved from https://www.researchgate.net/publication/365793801

- Zahariev, A., Ivanova, P., Zaharieva, G., Slaveva, K., Mihaylova, M., & Todorova, T. (2023). Interplay between CSR and the Digitalisation of Bulgarian Financial Enterprises: HRM Approach and Pandemic Evidence. *Journal of Risk and Financial Management*, 16(9), 385. doi:https://doi.org/10.3390/jrfm16090385
- Zahariev, A. (2012). Economy and Education on the 21st century towards economic growth, employment and international partnerships. *Tenth* annyversary scientific and practical conference "Problems and perspectives for development and cooperation among the SEE countries within BSEU. Tom 1, pp. 24-37. Albena: Tsenov PH.
- Zahariev, A., Angelov, A., Ganchev, A., & Kostov, D. (2022). *Financial Analysis*. Svishtov: Tsenov PH.
- Zarkova, S., Kostov, D., Angelov, P., Pavlov, T., & Zahariev, A. (2023). Machine Learning Algorithm for Mid-Term Projection of the EU Member States' Indebtedness. *Risks*, 11(4), 71. doi:http://dx.doi.org/10.3390/risks11040071

Anatoly Velkovski is a doctoral student at the Department of Finance and Credit of D. A. Tsenov Academy of Economics in Svishtov. Scientific interests: export and import operations, foreign trade transactions, customs duties. ORCID ID: 0009-0003-1633-1998

ISSN 0323-9004 Economic Archive Svishtov, Year LXXVII, Issue 3 - 2024

A Study of the Dynamics of Customer Deposits and Investments in Financial Instruments in Bulgaria for the Period 2013–2023

Methodology for Mitigaring Energy Poverty in Bulgaria and the European Union

A Study on the Relationship Between Regional Economic Development and Road Network Density in Bulgaria

Strategic Transformation of Tourism in Bulgaria – Economic Recovery and Growth Potential

Proofs of Seasonality of Bulgaria's Export of Consumer goods, Raw Materials and Processed Materials over the Period 2020–2023



година LXXVII книга 3 - 2024

Year LXXVII, Issue 3 - 2024

EDITORIAL BOARD:

Prof. Andrey Zahariev, PhD - Editor-in-chief Prof. Yordan Vasilev, PhD – Deputy Editor Prof. Stoyan Prodanov, PhD Prof. Todor Krastevich, PhD Assoc. Prof. Iskra Panteleeva, PhD Assoc. Prof. Plamen Yordanov, PhD Assoc. Prof. Svetoslav Iliychovski, PhD Assoc. Prof. Plamen Petkov, PhD Assoc. Prof. Anatoliy Asenov, PhD

INTERNATIONAL BOARD:

Prof. Mihail A. Eskindarov, DSc (Econ) - Financial University under the Government of the Russian Federation, Moscow (Russia). Prof. Grigore Belostechnik, DSc (Econ) - Moldovan Academy of Economic Studies, Chisinau (Moldova). Prof. Mihail Zveryakov, DSc (Econ) - Odessa State Economic University, Odessa (Ukraine). Prof. Andrey Krisovatiy, DSc (Econ) - Ternopil National Economic University, Ternopil (Ukraine). **Prof. Yon Kukuy, DSc (Econ)** – Valahia University, Targovishte (Romania). **Prof. Ken O'Neil, PhD** – University of Ulster (Great Britain) Prof. Richard Thorpe, PhD – Leeds University (Great Britain) Prof. Olena Nepochatenko, DSc (Econ) – Uman National University of Horticulture, Uman (Ukraine) Prof. Dmytro Lukianenko, DSc (Econ) - Kyiv National Economic University named after Vadym Hetman, Kyiv (Ukraine) Assoc. Prof. Maria Cristina Stefan, PhD - Valahia University of Targoviste (Romania) Assoc. Prof. Anisoara Duica, PhD – Valahia University of Targoviste (Romania) Assoc. Prof. Vladinir Klimuk, PhD – Baranovichi State University, Branovic (Belarus) Support Team

Rositsa Prodanova, PhD - Technical Secretary Anka Taneva - Bulgarian Copy Editor Ventsislav Dikov - Senior Lecturer in English - Translation from/into English Margarita Mihaylova, PhD - Senior Lecturer in English - Translation from/into English

Editorial address:

2, Emanuil Chakarov street, Svishtov 5250 Prof. Andrey Zahariev, PhD - Editor-in-Chief **2** (++359) 889 882 298 Rositsa Prodanova, PhD - technical secretary 🖀 (++359) 631 66 309, e-mail: nsarhiv@uni-svishtov.bg Blagovesta Borisova – computer graphic design The contract of the contract o Milena Aleksandrova - computer graphic design 🖀 (++359) 888 303 402, e-mail: m.aleksandrova@uni-svishtov.bg

© Academic Publishing House "Tsenov" - Svishtov © D. A. Tsenov Academy of Economics - Svishtov

ECONOMIC ARCHIVE

YEAR LXXVII, BOOK 3 – 2024

CONTENTS

Irina Kazandzhieva-Yordanova, Elena Ralinska A Study of the Dynamics of Customer deposits and Investments in Financial Instruments in Bulgaria for the period 2013–2023	/3
Martin TinchevMethodology for Mitigaring Energy Povertyin Bulgaria and the European Union/24	
Borislav Lazarov A Study on the Relationship Between Regional Economic Development and Road Network Density in Bulgaria /35	
Ivelin Kichukov Strategic Transformation of Tourism in Bulgaria – Economic Recovery and Growth Potential /47	
Anatoli Velkovski Proofs of Seasonality of Bulgaria's Export of Consumer goods, Raw materials and Processed materials over the Period 2020–2023	

/63